

$$2x^2 - 12x + 10$$

$$\text{Sum} = b = -12$$

$$\text{Product} = a \cdot c = (2)(10) = 10$$

$$2x^2 - 10x - 2x + 10$$

$$[2x(x-5) - 2(x-5)]$$

$$(x-5) [2x-2] = 2(x-5)$$

$$x^2 - 2x + 1$$

$$4x^2 - 2xy^2$$

$$2 \cdot 2 \cdot x \cdot x \cdot y \cdot y =$$

$$2x \cdot x \cdot y$$

$$2xy [2x^2y - xy - 4]$$

$$x^2 - 8x + 12$$

$$\text{Sum} = b = -8$$

$$\text{Product} = ac = (1)(12)$$

$$x^2 - 6x - 2x + 12$$

$$x = (x-6) - 2(x-6)$$

$$x-6 [x-2] = (x-6)(x-2)$$

$$\frac{1}{2}(x+5) - 4 = \frac{1}{3}(2x-1)$$

$$\frac{1}{2}x + \frac{5}{2} - \frac{8}{2} = \frac{2x}{3} - \frac{1}{3}$$

$$\frac{1}{2}x = -\frac{3}{2} + \frac{2}{3}x - \frac{1}{3}$$

$$\frac{3}{6}x - \frac{9}{6} = \frac{4}{6}x - \frac{2}{6}$$

$$-\frac{4}{6}x + \frac{9}{6} = \frac{4}{6}x - \frac{2}{6}$$

$$-\frac{4}{6}x - \frac{4}{6}x$$

$$2x^2 - x - 3 = 0$$

$$2x^2 - 3x + 2x - 3 = 0$$

$$x(2x-3) + 1(2x-3) = 0$$

$$(2x-3)(x+1) = 0$$

$$2x-3=0 \quad x+1=0$$
$$+3 \quad +3 \quad x=-1$$

$$2x=3$$

$$x = \frac{3}{2} \quad x = -1$$

$$\text{sum} = b = -1$$

$$\text{product} = ac = (2)(-3) = -6$$

$$\frac{1}{2}(\lambda+5) - 4 = \frac{1}{3}(2\lambda-1)$$

$$\frac{1}{2}\lambda + \frac{5}{2} - \frac{8}{2} = \frac{2\lambda}{3} - \frac{1}{3}$$

$$\frac{1}{2}\lambda - \frac{3}{2} = \frac{2}{3}\lambda - \frac{1}{3}$$

$$-\frac{1}{6}\lambda - \frac{3}{6}$$

$$\frac{3\lambda - 9}{6} = \frac{4\lambda - 2}{6}$$

$$\lambda = -3$$

$$-\frac{9\lambda}{6} - \frac{4\lambda}{6}$$

$$-\frac{1}{6}\lambda - \frac{9}{6} = -3$$

Example 2: Solve the following equation:

$$3\lambda + 2 = 3$$

$$\frac{3\lambda}{\lambda-1} + \frac{2}{\lambda-1} = 3$$

$$\frac{3\lambda(\lambda-1) + 2(\lambda-1)}{(\lambda-1)} = \frac{3(\lambda-1)}{(\lambda-1)}$$

$$3\lambda - 2\lambda - 2 = 3$$

$$\begin{array}{r} 3\lambda - 2 = 3 \\ +2 \quad +2 \end{array} = 5\lambda - 5$$

$$\$18,000 = s + b$$

$$\$14,000 = s + \frac{1}{2}b$$

$$s = \$12,000$$

$$b = \frac{s}{\frac{1}{2}} = \frac{\$12,000}{\frac{1}{2}} = \$24,000$$

$$2x^2 + 4x + 11 = 0$$

$$2x^2 + 4x = -11$$

$$x \pm 1 = \pm \sqrt{\frac{9}{2}}$$

$$2(x^2 + 2x + 1) = -\frac{11}{2} + 2$$

$$x = -1 \pm \sqrt{\frac{9}{2}}$$

$$\left(\frac{2}{2}\right)^2 = 1$$

$$(x+1) = \sqrt{\frac{9}{2}}$$

$$x+1 = \sqrt{1} \sqrt{\frac{9}{2}}$$

$$x+1 = i\sqrt{\frac{9}{2}}$$